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After what time will they meet each other?

from all the given schools
N. Vinaykumar Reddy together?
Director, IACE, a) V b) I
Hyderabad. c) VI d) HI p
e) None of these Clerks Prelims
5. What is the respective ratio of
MODEL QUESTIONS students studying in standard II Numerical ability .
and VI of school C to those Special
Directions (Q.No.1-5): Study the studying in standard IV of " Also useful for
table carefully to answer the schools B and F together? Other Competitive Exams /
questions that follow. a) 34:29 /
Number of students studying in b) 43 :47 :
different standards of different c) 25 :27 d) 29 :27
schools e) None of these numbers is 20 and that of the last
Schoﬁif‘?fms T eveTyeve 6. If the diameter of a wheel of a six numbers is 25. Find the sum
A 42 |52 |48 58 | 50 |38 vehicle is 56 cm. It completes of the 6! and 7™ number.
- L T L O M 1000 rotations in 1 minute. Find a) 140 b) 40
D 45 |55 |46 40 | 52 |50 the speed (in m/s) of the vehicle. c) 100 d) 150 c) 4.2 kmph d) 4.4 kmph c) 6652800 d) 765800
i Sl b S ) ol a) 29.33 m/s e) 30 ¢) 4.5 kmph e) 706800
| - b) 59.33 m/s 10. A number is increased by 10% 13. The ratio of the monthly income
1. What is the approximate average c) 58.66 m/s  d) 70 m/s and then decreased by 10%. to the monthly savings of a Directions(Q.No.16-20): What
number of students studying in e) 27.33 m/s Finally the number is family is 8 : 3. If the monthly will come in the place of question
standard III from all schools 7. The circumference of a wheel of a) increased by 12% expense is Rs. 24000 the find the = (?) mark in the following number
together? train is 6 2/7 m makes 14 b) decreased by 2% monthly income. series.
a) 38 b) 51 rotations in 6seconds. Find the ¢) increased by 1% a) Rs. 28500 16. 7, 46, 71, 87, 96, 100
c) 40 d) 46 speed of the train. d) decreased by 1% b) Rs. 29600 a) 8 b) 12
e) 55 a) 52.8 kmph e) unchanged c) Rs. 36700  d) Rs. 34200 c)9 d) 10
2. Number of students studying in b) 53.6 kmph 11. Three years ago, Diwakar's age e) Rs. 38400 e) 11
standard V from school E is c) 48.6 kmph d) 45 kmph was 7 times that of Rituraj. Three 14. Two buses 1200 km apart are 17. 218, 231, 253, 293, 369, ?
approximately what per cent of e) 54 kmph years hence Diwakar's age will moving towards each other. One a) 507  b)517  c¢) 515
those studying in standard III 8. A boat takes 8 hours to sail from be 4 times that of Rituraj. The of them is moving at a speed of d)516  ¢e)519
from school D? one place to another and back to present ag is 120 kmph and the other at 80 18. 1308, ?, 324, 160, 78, 37
a) 128% b) 132.5% the starting point. If the speed of a) 11 years b) 7 years kmph. After what time will they a) 652 b) 762
¢) 124% d) 113% the river is 4 kmph and the actual c) 9 years d) 21 years meet each other? c) 682 d) 672
e) 107% speed of the boat is 8 kmph, find e) 13 years a) 6 hours e) 632
3. Which school has the 2nd highest the distance between the two 12. A man swims downstream from b) 8 hours 19. 64, 71, 81, 96, ?, 149
total number of students from all places. one point to another which is 6 c) 7 hours d) 5 hours a) 116 b) 112
the given standards together? a) 12 km km apart in 1.5 hours. It covers e) 4.5 hours c) 118 d) 122
a) E b) B b) 34 km the same distance upstream in 2 15. In how many different ways can e) 120
c) F d) A ¢) 30 km d) 24 km hours. Find the speed of the man the letters of the work 20. 18, 57,174,525, 1578, ?
e) None of these e) 40 km in still water. 'ACHIEVEMENT" be arranged? a) 4737 b) 4677
4. Which standard has the 3™ 9. The average of 13 numbers is 30. a) 4 kmph a) 721800 c) 4697 d) 4717
lowest total number of students The average of the first 5 b) 3.5 kmph b) 684600 e) 4767
6. a; 7(x-3)= D(3 years ago)
KEY AND SOLUTIONS r= 28 cm, speed= 4(x+3)= D+6 (3 years later) 110 46 71 87 96 100
Tx-21= 4x+12 - 6 MW
1. b; 25 2% % 281000 3x =27 R e o
48+58+58+46+44+54 308 __ .. ST — 29 330m / sec X = 9 years
6 e T 60x100 60x100 12. b: 17. b
9
. : 6
* d52 i ds 15 = 4kmph 218 231 253 293 369 517
22 %100=113.04 =113% 14 Yoo AN AN N N
e 7 18 _ 55 8kmph 13 32 40 76 148
3. b; S 2 us :—6 = 3kmph \q_/\M/
A=232 8. d; 2 13 36 72
B=304 XX _g Speed of man in still water 18. a;
C=288 12 4 2% 3 skm/h
D=2338 +3x=8x12 2 1308 324 160 78 37
E=302 4x =96 13. e; E =5 \‘3’2/\“_7“2/\*_—2’;
F=314 X =24 5 — 2400
4. c; 9. a; 8 > X 19. c;
sum of 13 numbers is 30 X 13 =390 < = 24000 %38 —38.400 i
I 271 sum of frist 5 numbers =5 X 20 = 100 ’ o o o - 1
EI g(z)g sum of last 6 numbers = 6 x 25 = 150 14. a; 7 10 15 22 31
th th _ 1200 1200 _ \\_/\\._//\\._..«/
o TRe sum of 6 and 7" =140 s = 6hrs . - . \\9_//
v_|301 10. d; 15. ¢; 20. a;
VI | 290 lo_10 10x10_ 00 Sl LN N P 3Gl 18 57 174 525 1578 [473
5. a 100 3t B il e % N A
48 + 54 : 45 + 42 .". Decreased by 1% 16. d; X3+3 X343 X343 X343 X343
34 :29 11. c;
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